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Conservation of Angular Momentum
Translational motion: Conservation Law of Linear MomentumTranslational motion: Conservation Law of Linear Momentum 

(closed, isolated system = no net external forces)
  Δ

K
P = 0

Rotational motion: If the net external torque acting on a system 
is zero, the angular momentum of the system remains constant, 
no matter what happens within the system   Δ

G
L = 0

no matter what happens within the system

G
L

G
L ‐ Total angular momentum of system at all times is equal 

  L i = L f ‐ Vector {conserved in all three directions, x‐y‐z}

Iiω i = I f ω f

‐Initially rigid body
redistributes mass relative to  
rotational axis



Linear and angular relations
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Angular momentum (one)

Angular momentum (system)

Angular momentum (system, fixed axis)
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Conservation Law (closed,isolated)

  

0 = Δ
K
P Conservation Law (closed,isolated)  Δ

G
L = 0

  
G
τ h i l th t t d th t t l t ti l

  
G
L 

  τ nethas no  meaning unless the net torque       , and the total rotational 
momentum    , are defined with respect to the same origin  

G
L   

G
τ net  

G
τ net = d

G
L dt



Example #3 : Clutch
Before           

After

A wheel is rotating freely with angular speed
ωi on a shaft whose rotational inertia is 
negligible.  A second wheel, initially at rest
d ith t i th t ti l i ti f thand with twice the rotational inertia of the 

first, is suddenly coupled to the same shaft.

What is the angular speed of the the resultant combination of the shaft and two wheels?
L LLi = L f

Iω i( )small
wheel

+ 2Ii (0)( )large
wheel

= Iω f( )small
wheel

+ 2Iω f( )large
wheel

Iω = 3Iω

What fraction of the original rotational kinetic energy is lost?
Fraction of KE lost :

Iω i = 3Iω f

ω f = 1
3 ω i

Fraction of KE lost :
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QuestionQuestion Question 4

A beetle rides the rim of a rotating merry‐go‐round.
If the beetle crawls towards the center of the disk, what happens to 
h i l i i f b l di k ?the rotational inertia of beetle‐disk system?

1. increases

2 decreases2. decreases

3. stays the same

Itot = Idisk + Ibug

= Idisk + mbugr
2



QuestionQuestion Question 4

A beetle rides the rim of a rotating merry‐go‐round.
If the beetle crawls towards the center of the disk, what happens to the f f , pp
angular momentum of beetle‐disk system?

1. increases

2 decreases2. decreases

3. stays the same



QuestionQuestion Question 4

A beetle rides the rim of a rotating merry‐go‐round.
If the beetle crawls towards the center of the disk, what happens to f f , pp
the angular speed of the beetle‐disk system?

1. increases

2 decreases2. decreases

3. stays the same



Demo: Conservation of Angular Momentum

No external torques actNo external torques actNo external torques actNo external torques act

L = LLi = L f

Iiω i = I fω f

I person + 2MR2( )i
ω i = I person + 2Mr2( )f

ω fperson( )i i person( )f f

if   Δr ↓   then   ω f > ω i

if Δr ↑ then ω < ωif   Δr ↑   then   ω f < ω i



Demo: Conservation of Angular Momentum
No external torques actNo external torques act

Linitial= Lfinal=         +        =



Linear and angular relations
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Angular momentum (one)
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Newton’s second law (system)
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Conservation Law (closed,isolated)

  

0 = Δ
K
P Conservation Law (closed,isolated)  Δ

G
L = 0

has no  meaning unless the net torque       , and the total rotational 
momentum    , are defined with respect to the same origin  

G
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G
τ nethas no  meaning unless the net torque       , and the total rotational 

momentum    , are defined with respect to the same origin  
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Problem 11‐66 A particle of mass m slides down the 
frictionless surface through height h and collides with the uniform 
vertical rod (of mass M and length d), sticking to it.  The rod pivots ( g ) g p
about point O through the angle θ before momentarily stopping.  
Find θ.

What do we know?  Where are we trying to get to?

What do we know about the ramp?  What does this give us?  
Conservation of Mechanical Energy going down ramp!     KEinit + U init( )= KE final + U final( )

0 + mgh( )= 1
2 mvfinal

2 + 0( )

There’s a collision!  What kind?  What do we know about this collision?  What is constant?  

Only Conservation of Angular Momentum holds!   
G
L initial =

G
L final

This gives us the speed of the mass right before hitting the rod:     vm ,bottom = 2gh

(choose a point wisely)   (
Gr × Gp m ,0 + 0) = (Gr × Gp m, f + Irodω)

d(mvm,0 )( )= md 2 ωbottom( )+ 1
3 Md 2( )ωbottom( )

This gives the angular speed of the 
rod/mass just after hitting: ω =

mvm,0 =
m 2gh

Now what?  After the collision, what holds?

rod/mass just after hitting:   ω bottom =
dm + 1

3 Md
=

dm + 1
3 Md

Now Conservation of Mechanical 

KEinit + U init( )= KE final + U final( )
1
2 Itotω bottom

2 + 0( )= 0 + mgd(1− cosθ final ) + Mg(1
2 d)(1− cosθ final )( )

energy holds again!  
2 tot bottom( ) g ( final ) g( 2 )( final )( )

Solve for θ:
θ = cos−1 1−

m 2h
d m + 1

2 M( ) m + 1
3 M( )
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Solution Problem 11‐66



Solution Problem 11‐66



Precession: gyroscopesPrecession: gyroscopes

Remember:
‐Angular velocity
‐Torque
‐Angular momentum

→ ALL VECTORS



A yo‐yo has a rotational inertia of Icom and mass of m.  Its axle radius is R0
and string’s length is h.  The yo‐yo is thrown so that its initial speed 
down the string is v0.

Prob 12‐15

a) How long does it take to reach the end of the string?

b) h h d f h h l

−h = Δy = −v0t − 1
2 acomt 2 ⇒  solve for t (quadradic equation)

1‐D kinematics given acom

b) As it reaches the end of the string, what is its total KE?

) h h d f h h l d?

Conservation of mechanical energy

KE f = KEi + U = 1
2 mvcom,0

2 + 1
2 Icom

vcom,0

R0
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⎟ 
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+ mgh

c) As it reaches the end of the string, what is its linear speed?

d) i h h d f h i h i i l i l ?

1‐D kinematics given acom

−vcom = −v0 − acomt ⇒  solve for vcom

d) As it reaches the end of the string, what is its translational KE?

) A i h h d f h i h i i l d?

Knowing |vcom|

KEtrans =
1
2

mvcom
2

e) As it reaches the end of the string, what is its angular speed?

f) A i h h d f h i h i i i l KE?

   acom =
g

1+ Icom mR0
2

downwards
ω =

vcom

R

Knowing |vcom|

f) As it reaches the end of the string, what is its rotational KE?

Two ways: KErot =
1
2

Icomω 2   or   KErot = K Ef ,tot − KEtrans



Which way will it roll??  

1 1

3


